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B pT ik -

(BB 5Y- (% AVEIIE 7 2 (DBE RT3 4 A0 (I ()P 53
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(2) 5 PR A BT 2 SEHIA I U S 7 2CD RSB ) 5 S R =
P@F N

(3) ™ FIHI— ™ [ RS S AR & & Vi 2 (ORI (5 R TR()
STV FAEORS (4) PR RO u SR

@S2 kgplom® | e i 4 ka0 (52 (242 (3)62 (4)7.2

(4)5% H PRI 75D 5.6 psig » 7 HiRf -5 kG 147 psi » IIFSa i Aeaf B 852
psi? (1)5.6 (2)9.1 (3)17.5 (4)20.3

(L)fis 500 ft g S¥P gt =i [HIAIGAR P (VRS 5L 27D psi ? (i

624 lbm/ft® |, g=322fu/5ec%y (1)220 (2)300 (3)270 (4)310

(1) e 1y LOLF g fem? BRI S G T ) » AROpvES] IS 2 atm ?
(1)10m (2)10 ft (3)100m (4)Im (5)20m
(D)1 %PES]s 8 @ 200mmHg > FljJE 22 Z57 0 (1)560mmHg  (2)200mmHg (3)960mmHg

(4)360mmHg  (5)160mmHg

(s s s Lt = L0kg/am® = 760mimHg , 2| - gpuspEe ) FHE T 13
04 k%fﬂﬂzﬁﬁ » @k £ 1 (1)532mmHg  (2)558mmHg (3)300mmHg  (4)456mmHg

(3)L ka/om’ DRSPS 2N 2 (1001 (91 (3)10 (4)100

(1)d AR Ee=. 70cmHg > fL#A ﬁ[%g' | VBRS¢ (1)6emHg  (2)64cmHg

(3)82cmHg  (4)170cmHg

(4)F= £ 50 5 (Torricelli Barometer) 1 {1 57 @ik 2 (1) arf= v <%
(A= VAT ()l g i (4);&%@3(&%51#

(4)=1— RTHT U BIRAEIED g s pu s o ) R VRS 20em > U B

DB 13.6) 0 JIJES]0E L E T kPa ? (1)2.52kPa (2)2.72kPa (3)24.7kPa
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(4)26.7kPa

()% SBSFHRE A S B o B B ER B 75.60m S 159 U B FVESS

4_..-4

7

B Pt ST BT BT 00T R S
[P 554, psia ? (1)14.82 (2)1655 (3)6.75 (4)162.19

(L)2] B2l APV~ 5] S AR RR T JS R e
7177 200mm » [ E R B L % pREW/ S o (145 3 - 5= 138 glanT , i
ErR B e Sty (1136 (2136 (3)1360 (4)0.33

(3) vt A VR3S IR ) 2 5% 2mm A€ V7] 2 5 20mm - PR 88y 1710
B T IR ORI B S dom s RN % DU ESY 7 2 (11078 (2)83.6

(3)0.11 (4)107.8 &fem’
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2,32 I~ rrr n 5 ‘E EE
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43. (a)What type of reactive intermediate is formed in the reaction of an alkene with HBr to give a

bromoalkane ?

a. carbocation
b. carbanion

c. radical

d. cyclic bromonium ion

44. (a)Which of the following undergoes the most rapid bromination upon treatment

withBr,/FeBrs ?
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48.

49.

50.
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a. benzene
b. nitrobenzene
c. bromobenzene
d. benzaldehyde
(b)Which of the following undergoes the most rapid acylation upon treatment withacetyl

chloride and AICI3 ?

benzene
toluene
chlorobenzene

1,4-dichlorobenzene

(c)Which of the following sets of substituents are all o/p-directing in electrophilicaromatic

substitution reactions ?

Cl, CHs;, CN
Br, OH, COCHjs
Cl, OH, CHs

CN, NO,, COCH3
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